dofjsid dod, ddsl AL 2 &) B F T 9 3
2 B S SN 22}:2002d 8Y 6¥

1 o fof T ) = -

oA (=} =) 8 A 133} 2 A Hi2002d 8¢ 7Y

g 94 A963] HHFTA(LAE) A2x A5

[2e]ax]

O 20019 ~ 20029 &4 AL 52 A oA JPAH

[EeaxA]

O 20105A23% §x33 o2 FPAH(2001d ~ 20029
79T FAo] et g =AU

- 20019k BEXE 9 HAFE AEL 379 58,3008 L),
84 & 157 88,6024 9, Adu)2E= 27 43,0003
o F 20019% SASHEE x#E 44 AYLFHL F 207
189,992 S 3 sigloH,

~ 20029% HES 9 HAF &L 54 31,937 ol
APFAEIEE 47 69,504 €22 200235 79%dEA 94
101,4413 9<% FFsAEUS -

-4 dde 29 ARE Fuste FA7) uid

—203 -




0 2001d= Bz2g 2 Hids JEU9
_ (¢hel )
& vhy 4 & W & 2|E TN ] I
gl sd 53,300 "
01 - 10 |HBATHAY 238 dFEE | 200000519 F29 =4)
307 - 02 |KCsW TRz 2Y A7 3,300]11.174
07 - 02 [FRY.F9 44 313 35,000 128 (F 503 AA)
0 2001d% &4 &dd
. (el e
AlE A= A& 0 £ AE 4 ) I
A 157 38,692
TEY £4(2.18¢) 2,300{823 HF=ZFAAA
HXER d 28 AF 3,300 10mx 6mx 27)
THE AZ(2.204) 2,020,859 1470
ERETENC) 2,970/ 2712 M 7] A
A 2, AbALE-2 ] 5,100{ @4, 7] AR =
X £BEWUFT 3270 24,400 W= FEs BT
fx TEE(3F 7071 24,510 B¢, ol =4, drg
201 A EFEEGF 1,10000) 7,080|TH =, 2, =d 2
EAA 71 EREQ28A) 4,650 @5 AR S
KOCHAL S 717HF TR E 3,025|4=7] 5,0007)
974 =g 2 94 495 | B2 (ZEMNHER)
3 FHE(RSFTARES) 1,024 |+ X9 93] 22-%F 3]
T2 43 39 A 308|11.299
FAZHE QA9 o7 910| A 4~5F 137
@ FUR BT whE abb} 6,600| 3. =9l
O 20019 % AlgH] A&l 9
(9 d )
B A & 0 & A& Fo| W=
[01-01 [®EACH) 143000 #@R A4

—204—




2]

0=l A F W

! = ‘
' E R

A 57 31037
301-07 [&Egola &9y @ | 7307
307-03 [FALYT 43 FTE(2.22) 5000, 7% WA
307-03 |MER olojgtals] ul3(2.27) 3,500 -
301-09  |[ZAAEY 234(3.14) 2,340
307-03 [MEZA} AW (4.26~5.8) 8,700
O 20029 % AFGH] &30 Y
A% W= A & g 29

A 47 69,504

nE&EEY ofdzld motmAl|  12,000|®L(5.20), = 69

SEH OFRZE = A

27,124

401-01

ZEH o)gdA o

2
T

12,000

ZT FA

ZEd ol¥nE Fuw

18,380

—205 -






